T6E HEARBIKKEE (ERE)

10 11 12 2

am —
IO N
Jo
Jo
Jo o1
hnffe)
M fEN
Jm 00
hnfite)
ao
ao

A At

T 13 7 9] 23 14 19 17 9 4 12 9 15| 151
ISR 5 2 2 6 2 5 3 3 1 5 5 1| 40
EEREYES 0 1 0 2 3 2 1 1 1 1 1 2| 15
THRIERG & 1 0 1 1 0 2 0 1 0 0 0 1 7

EEREEEE 0 0 0 1 0 0 0 0 0 1 0 0 2

R ERE] e 0 1 1 3 1 0 0 0 0 0 0 0 6
N 0 0 0 0 0 1 0 0 0 0 0 0 1
EwS(E1%E = 2 0 3 4 0 3 1 1 0 2 1 1 18
FEEEHE 0 1 1 0 2 0 3 1 0 1 0 0 9

FRALPNTEBL & 0 0 0 0 0 0 0 0 1 0 0 0 1

HERINE B 0 0 0 0 0 0 1 0 0 1 0 1 3
KEHHEBE 0 0 0 0 0 1 1 0 0 0 1 3 6
IR BB & 0 0 0 0 1 0 0 1 0 0 0 0 2
FRIVEBG & 2 1 0 2 2 1 2 1 0 1 0 2| 14
th FHTERG & 0 0 0 0 1 1 2 0 0 0 0 0 4
BEERE 2 0 0 0 0 0 1 0 0 0 1 0 4
ZNGINEIYE = 0 0 0 3 0 1 1 0 0 0 0 1 6
EFHE 0 1 1 0 2 0 1 0 0 0 0 1 6
21N B 2 0 0 0 0 0 0 0 0 1 0 0 0 1
THSRH B & 1 0 0 1 0 2 0 0 0 0 0 2 6

IEMAE D72 OB T 5 AIREMEN H Y £97,




